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33 MEssAd F2el
el =Eae] Het (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Aot=EAI A 24,455,590 29,241,090 A\4,785,500
= 7,175,000
== 6,844,600
[Ea 10,435,990
DIESAlE KXt 4,189,053 5,992,483 1,803,430
= 1,095,000
Ea 3,004,053
=Zae| Aot 197,512 183,440 14,072
Il =23A 197,512 183,440 14,072
201 fet=23y| 173,768 159,480 14,288
02 S3=gHl 173,768 169,480 14,288
Ontsd+x seoIgs
100,000 23| 12 2,400
Ollsat=x F2IAMN =2 171,368
—d= 24,038
A= (EF785/8D1)
83,710& #21 0l #2328 3,516
= (HR085/244)
238, 7003 x21 0 2+12] 5,013
- A (Rt 118s/248)
83,3802 186 A+ 13 15,509
—3= 147,330
DHg=(etE)
55,0002 » 186 A-+22] 20,460
1he= 70,6403 %207 2+32] 43,868
Dhg=s(Rets)
11,6602 1867 A *43] 8,676
SohE= 359, 060& #2070 A+12] 74,326
206 M=l 23,744 23,960 A216
01 M= HI 23,744 23,960 A216
ORs A5 7Y
12,0003 x207 9 2-+62] 14,904
O==&ZAt JIAH & Al 7
5,50024 800 4,400
Oltd &9 oolIaz2y +e
185,000 x2Z=x 12 4,440
o= Ald2e] 390,000 310,000 80,000
< 45,000
= 345,000
A S 2l (El) 150,000 130,000 20,000
= 45,000
= 105,000
307 elztol & 150,000 130,000 20,000
= 45,000
Ea 105,000
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FA: Aot AIEA
33 MEssAd F2el
2ol A=k Alg2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 150,000 130,000 20,000
OEHIEXZAS 150,000
-S4 Xzl A (AR2TAl
&) 150,000,000 *14] 150,000
=S 45,000
s 105,000
A SXIZel (KHA) 240,000 180,000 60,000
201 2= 30,000 30,000 0
2 S5=2g4l 30,000 30,000 0
Oufot= AIZ= BHESH
30,000,000 %14 30,000
307 el2to| & 210,000 150,000 60,000
05 2I2HRIE S 210,000 150,000 60,000
Oltedsr & A2 AE I8 X
el 150,000,000 *14] 150,000
Obtsa+E & AR2gA4E 2522
60,000,000 * 14| 60,000
A== AlENE 3,601,541 5,499,043 1,897,502
= 1,050,000
= 2,551,541
OSds= SAZ=A 1,488,328 2,150,704 AB62,376
203 HE=H] 3,000 3,000 0
03 A= LR F&IH| 3,000 3,000 0
Od=k AIHFA 3,000,000& 3,000
401 AlZHIZ SO 1,485,328 2,147,704 A\B62,376
01 A28l 1,480,000 2,140,000 660,000
Obtss=t 2R XE=
5,000,000 *1200H 2~ 600,000
ORIgt==(2d) He
100,000, 000 #3JH 2 300,000
OISt (Me 4, |8 o) olA2 ®
S 125,000,000 #2901 2 250,000
OXIot= OISHEHZAISS
100,000,000 * 14! 100,000
Olt24t+=% SHIHHR ALY
2,500,000 *200H 2 50,000
OltsasE ANdSHS(=RAZEI, &
S5, 2ELXIAIL)
10,000, 0002 * 1091 £ 100,000
O=S¢3 wHd ¢ A
10,000,000 *57H 2 50,000
SEE AUBFAEER & RA2A2(E
Xg, 254) 1,000,000& *307H 2 30,000
03 AIZ2THYI 5,328 7,704 N2,376
Oltsa+=x RAZ2+ AE2UBHI
1,480,000,000& *0. 36% 5,328
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SN ABHE AL
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CHelr &f=E AIEIHA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ASE JIBAIE KA 513,213 533,339 220,126
401 Al E2HIL S0 513,213 533,339 220,126
o1 Alt 510,000 530,000 220,000
OB2 ¥ 293 M3, B I 510,000
—O0H YE(=A) 293 L BREX L1
n 150,000, 00021* 14} 160,000
—HT AN 23 Y ARE L=1. 5@
210,000,002 141 210,000
~£3 D 2 L Y3 21, AWK
160,000,000+ 14} 160,000
03 Al CHH] 3,213 3,339 ST
OM%E JIBIAIE XA AlERHEY
510,000,00021+0.63% 3,213
ARD S5 L25 AlE K At TR (HE) 1,500,000 2,715,000 A1,215,000
= 1,050,000
2 450,000
401 Al EHIL 20| 1,500,000 2,715,000 A1,215,000
= 1,050,000
2 450,000
01 Alt 1,494,619 2,706,261 A1,210,642
OFEH(XI20/2) AteS 1,494,619
—ARR2aE SSIAIE HSAISG (HE)
1,050,000, 00021141 1,050,000
= 1,050,000
—ARPHE SRSAIE JHSAR (RI)
444,619,00021 %141 444,619
03 Al& = CH| 5,381 9,739 24,358
OF&H(X0/2)AES 5,381
—ARDAE TESAIE WA (XIH)
1,404,619, 00024+0. 36% 5,381
NLALE ME 0h2 ASIHAI 100,000 00,000
401 Al&2HIZ S H] 100,000 00,000
01 Alt 100,000 00,000
ONYM%E HE 012 AEHZA
500, 0002+2004I CH 100,000
2t JHRE Kok 22 17,000 17,000 0
= 5,100
2 1,900
Xigts 22| 17,000 17,000 0
= 5,100
2 11,900
Rt Szl At 17,000 17,000 0
= 5,100
2 11,900
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0 St JRRE Kot 2l
Chel: XIGk= 2tel EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
401 Al HIZL 2018 17,000 17,000 0
= 5,100
= 11,900
01 A=l 17,000 17,000 0
OZHIEXZAY 17,000
— X5t S22 (LS a=7)
17,000,000 * 14! 17,000
== 5,100
[Ea 11,900
ANga=ro 22 A3 35 9,768,476 14,561,355 N4, 792,879
= 4,998,000
i 4,770,476
et e 8,807,116 10,891,715 A2,084,59
== 4,998,000
ia 3,809,116
RN=EIX 7 Kga+E HAISY ASAI (HEH 387,000 0 387,000
< 306,000
T 81,000
401 Al HIZL 201 387,000 0 387,000
= 306,000
= 81,000
01 A=l 387,000 0 387,000
OFEH(XI 0|2 AL 387,000
~XZHINP NLALT HAB2Y 7
SANY AAEHSH(HE)
271,000,000 *14] 271,000
S 271,000
—A=g=X7 ANgadsE Had=s28Y #
FAte! AAIAH B (XIH)
116,000,000 x 14 116,000
= 35,000
o 81,000
SSOtWAT sHEMSS S NLAIL(HE 1,879,000 1,878,000 1,000
[ 1,597,000
[ias 282,000
401 Al HIZL 201 1,879,000 1,878,000 1,000
= 1,597,000
s 282,000
01 AlZH| 1,872,259 1,711,473 160,786
OTE(XIL0I2) AL 1,872,259
— =Stk T SHEYE SN A(
HEH 1,315,000,000& *14] 1,315,000
== 1,315,000
— S0tk T SHEYE SN A
XItdl) 557,259,000 x 14 557,259
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< 282,000
s 275,259
03 Al 2 0HHI 6,741 6,162 579
OTEE(XIL0I) At 6,741
—+=Sotu k7 sHELESTIHE A
NEELEEONEN
1,872,260,000& +0.36% 6.741
HAX T SHEYES HLAL(HE) 3,140,000 2,836,000 304,000
[ 2,670,000
T 470,000
401 Al HIZL 201 3,140,000 2,836,000 304,000
= 2,670,000
= 470,000
01 Al&H| 3,131,544 2,584,525 547,019
OTE(XIL0I2) AL 3,131,544
—HAER T SHELSE S HLAS (HE)
2,200,000,000& *14] 2,200,000
== 2,200,000
—HAER TR SHELSE S HLAS (XY
Bl 931,544,000 x 14 931,544
=S 470,000
s 461,544
03 Al 20HHI 8,456 9,305 AB49
OTEH(RIL0I2) ALY 8,456
—REXF SHELESS HEAME AL
SOHZHI(X1ed])
3,131,545,000& %0.27% 8,45
NN T SOHELSSS HLAIS(HE) 500,000 500,000 0
= 425,000
o 75,000
401 Al HIZ R 0HHI 500,000 500,000 0
== 425,000
o 75,000
01 Al&HI 496,425 454,173 42,252
OTEE(XIZ0l2) At 496,425
—XT HYN T SOEMESE HLAR(
HE) 350,000,000 * 14 350,000
= 350,000
—X= G2X7 sHEMEES L A(
N =1D) 146,425,000 *14] 146,425
= 75,000
o 71,425
03 AIESTHYI 3,575 3,271 304
OTE(RL0I) AL 3,575
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B ATl oS EN 22
el N JHe (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—X= HUX T SOEMESE HLAY
AE 2T (XI21)
496,426,000& +0.72% 3,575
F=2 M1 At 503,600 86,675 416,925
401 AIEHIX S0 503,600 86,675 416,925
01 AlZH| 500,000 86,675 413,325
OfR=8 MIAY 22 500,000
—QtoItt OI2 L=2.7km, SSAIAE RS A
250,000,000& *14] 250,000
—Qotoltt Al [=3.2%km, SFAIAER2H i
250,000,000 x 14 250,000
03 AIZ2THYI 3,600 0 3,600
OF=+E MIAE AlEd=UEYI
500,000,000&%0.72% 3,600
FEA & A ALEHYE EG 452,000 500,000 248,000
401 AIEHIZ SR 0HYI 452,000 500,000 /48,000
01 Al&HI 452,000 500,000 248,000
O 4EA 2 BUCHY
452,000,000 x14] 452,000
Nga=e S5=79 SHEAY 1,453,636 920,000 533,636
401 Al HIZ 01| 1,453,636 920,000 533,636
01 Al&H| 1,450,000 920,000 530,000
OXNge+r S+ &Y AlY 1,010,000
—N&® = 1=0.4kn
200,000,000 *14] 200,000
— Aot HII L=0.5km
250,000,000& *14] 250,000
—NBHe SEE (=12
560,000,000 x 14 560,000
O+SFH| =N (P2HY) L HIABS
27= E9 440,000,000 *14] 440,000
03 Al 20HHI 3,636 0 3,636
OXNLAEE B4 I ALRTH
] 1,010,000, 000&+0.36% 3,636
Ngat=e =EHED| OlE2Ar 42,000 25,000 17,000
401 AIEHIX SO 42,000 25,000 17,000
01 AlZH| 42,000 25,000 17,000
OXgal=E =ZAHI| OIZA
1,400,000 300K 2 42,000
2%ss AE 21 € =X 47,000 47,000 0
401 AIEHIZ SR HYI 47,000 47,000
01 Al&HI 47,000 47,000
OAStE AE(RIaA])
4,000,000 »2IH 2= 8,000
Oastd E== 1,500,000 *200H 2~ 30,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLrSB+ENE 21 % &2l
300,000 #3074 A 9,000
ANgaie=e SZAH 402,880 830,040 N427,160
401 AIEHIX R0 402,880 805,040 AN402,160
01 A28l 400,000 800,000 A400,000
OXgaeE2ig2a Y SIS (FH.
3% 8) 200,000,000 *14] 200,000
OgtetaE I HELAS (HIASH
Ol 200,000,000& *14] 200,000
03 Al 2 CHYI 2,880 5,040 A2,160
Ogtetas=E 2ZAY AIE203I
400,000,000&*0.72% 2,880
ANga==He 961,360 3,669,640 A2,708,280
AOLE 2t2r2e|diE HE A 611,360 338,640 212,720
401 AIEHIZL 2 THYI 611,360 338,640 272,720
01 AlZ8| 611,360 336,480 274,880
OADIE 22 HE HE A
611,360,000 x14] 611,360
ANgat=C SUHSAIYE AtZ2el 22 360,000 350,000
401 Al HIZL 01| 360,000 350,000
01 Al&HI 350,000 350,000
OZY2ACAIAE K2
100,000,000 *14] 100,000
OslitAE 72t F=EAIES
250,000,000 *14] 250,000
ot=& 2t 10,412,302 8,601,595 1,810,707
= 7,175,000
< 746,500
= 2,490,802
St=HMelAlE X 10,412,302 8,601,595 1,810,707
= 7,175,000
== 746,500
o 2,490,802
ot X & 22l (St HYHIBTLAUZ) 2,499,120 2,483,720 15,400
= 1,673,000
= 826,120
201 er2 3| 4,520 4,520
01 At2tltl 4,520 4,520
O=HIBEAS 4,520
—g2T BILAIY 24 uEIfEs =8
100,000 6 *53] 3,000
—gdT BILAIY 2SEUEI ARES 7
& 1,520,000 1,520
401 Al HIZL 201 2,494,600 2,479,200 15,400
= 1,673,000
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[Ea 821,600
01 AlZ2H| 2,485,651 2,470,306 15,345
O=HIE XA 2,485,651
— S22 BILAIY SUE XA
1,951,051,000& x14] 1,951,051
= 1,673,000
s 278,051
—SYZ BILAIY 2gH| NEAI
534,600,000 x 14 534,600
03 AIESTHYI 8,949 8.8%4 55
=T EINE 8,949
— o BTAIS 2THE o 29| TA
& 2,485,651,00021%0.36% 8,949
St=E2 &1 « 2el(sHE OStt+E dHl)(s2 1,403,492 283,000 1,120,492
XI+)
= 1,326,000
& 76,500
= 992
401 Al HIZL 201 1,403,492 283,000 1,120,492
= 1,326,000
< 76,500
[Ea 992
01 Al&H| 1,403,492 280,976 1,122,516
O=HIEXZAIS 1,403,492
—s2IA 7 ot=EAE EXSA
1,403,492,000& » 14 1,403,492
= 1,326,000
< 76,500
= 992
St=Eo #X ¥ 2e(sHE DiSctsE ) (&8F 442,000 412,000 30,000
X)
= 309,000
= 66,000
= 67,000
401 Al HIZL 201 442,000 412,000 30,000
= 309,000
< 66,000
[Ea 67,000
01 Al&HI 438,840 409,054 29,786
O=HIE XA 438,840
— &8 ot Al ZXISA
438,840,000 » 14 438,840
= 309,000
< 66,000
s 63,840
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el shkexelAlE 21 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 3,160 2,946 214
O=HIE2 XA 3,160
—METT SHCAIL AXIZA
438,840,000& *0.72% 3,160
St=o AX ¥ 2el(t=2t FHI) (M XIF) 1,569,500 778,000 791,500
= 1,360,000
= 98,000
Ea 111,500
401 AIEHIX 20HH 1,569,500 778,000 791,500
= 1,360,000
= 98,000
= 111,500
01 Al&H| 1,563,870 773,129 790,741
O=HIZ2 XA 1,563,870
— 8™ XS S22 XA
1,563,870,000& *14] 1,563,870
= 1,360,000
= 98,000
Ea 105,870
03 AlZ = THHI 5,630 4,871 759
O=HIE XA 5,630
—AEXF o2 2 XA
1,563,870,000& +0.36% 5,630
St &S (2o SSotrHelAlE ASE) 1,715,000 1,489,000 226,000
= 1,200,000
< 257,000
T 258,000
401 Al HIZL 201 1,715,000 1,489,000 226,000
= 1,200,000
== 257,000
o 258,000
01 Al&HI 1,708,848 1,483,658 225,190
O=HIEEZAIS 1,708,848
— ottt ZAGteHelAlE EE(SE)AY
1,708,848,000& » 14 1,708,848
= 1,200,000
& 257,000
Ea 251,848
03 Al 2CHYI 6,152 5,342 810
O=HIE2 XA 6,152
—QHo|H Dot elAE EE(SE)MY
1,708,848,000& *0. 36% 6,152
857,000 1,908,000 A1,051,000
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SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 600,000
=S 128,000
ia 129,000
401 Al HIZ R 0HbI 857,000 1,908,000 A1,051,000
= 600,000
= 128,000
Ea 129,000
01 AlZHI 853,925 1,901,155 A1,047,230
O=HIEXZAIY 853,925
~UEEZX7 HEisEHlAlL 21
At 853,925,000& x14] 853,925
= 600,000
S 128,000
i 125,925
03 A& S CHYI 3,075 6,845 A3,770
O=HIEEZAIS 3,075
~HEETRP HEeisterzIAL &
At 853,925,000 0. 36% 3,075
St X & 2el(sHE OiScteZ FHI) (24 143,000 429,000 A286,000
X)
= 100,000
= 21,000
[ia 22,000
401 AlEHIZ S 0HbI 143,000 429,000 286,000
= 100,000
< 21,000
s 22,000
01 Al&H| 141,977 425,933 A\283,956
O=HIEXAS 141,977
—Zd X7 ot Ald ZXIAE
141,977 ,000& * 14! 141,977
= 100,000
= 21,000
s 20,977
03 Al =2 0HHI 1,023 3,067 A2,044
O=HIEXZAIY 1,023
—=2a X7 ot=EAIE EXIAE
141,977 ,0002 0.72% 1,023
St=Eol X1 & 2el(s0E OiSdkE ) (o 500,000 0 500,000
X7)
= 300,000
[ 100,000
T 100,000
401 Al HIZL S 0HYI 500,000 0 500,000
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s ol=XclAld £X EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 300,000
=S 100,000
s 100,000
01 Al 496,425 0 496,425
O=HIE XA 496,425
—HEXI+ St AIE EXIAY
496,425,000 x14] 496,425
= 300,000
== 100,000
o 96,425
03 Al 20HHI 3,575 0 3,575
O=HIE XA 3,575
—UEX+ Sl AIE EXIAY
496,426,000&%0.72% 3,575
St X & 2e|(BLZ o222 LAY 614,000 0 614,000
= 307,000
o 307,000
401 AIEHIZ SR 0HYI 614,000 0 614,000
= 307,000
T 307,000
01 Al&H| 610,156 0 610,156
O=HIE XA 610,156
— ST Lol JEEAAEY
610, 156,000 * 14 610,156
= 307,000
o 303,156
03 Al 20HHI 3,844 0 3,844
O=HIEEZAS 3,844
— ST ot HLUIAMAIY AL
SO 610, 156,000& *0.63% 3,844
S3ot===IHoHCHYI 669,190 618,875 80,315
401 AIEHIX R0 669,190 618,875 80,315
01 AlZH| 665,000 615,000 50,000
Odt=2 242 CCTV & HALZAL
5,000& +5,000m 25,000
Odt= 22 AHIX & =&
5,000& %10, 000m 50,000
OAAR st=EAIE 2837 & RA2c
300,000,000 * 14 300,000
OFd TJ0tE otrXic|74Y ALY
200,000,000 *14] 200,000
O3 Eot=HMelAlE MUK EXI25
Ared 30,000,000 *3IH 2 90,000
03 Al 2 CHHI 4,190 3,875 315
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el shkexelAlE 21 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OB 3ot== Ml tHHIAIY AlE 204
665,000,000& *0.63% 4,190
HH2LIH(Yot =T A A) 68,759 68,657 102
J1I=23sl 68,759 68,657 102
JI23Hl 68,759 68,657 102
201 =3 37,959 37,959 0
01 At2t2ltl 37,959 37,959 0
ORKEN 1,831,000& 17 31,127
OF=F 1l 3,400
—SZ20HAHI 8,000 *17& »25& 3,400
OZdA=AD| X 286,000« 1CH* 122 3,432
202 04| 26,520 26,520
01 =LHO LI 26,520 26,520
OZLH0iHI 80,0003 x17E~12& 16,320
22| 01| 75,0003 17 H+8 10,200
203 HR=4AY] 4,280 4,178 102
02 3t RS &| 680 578 102
OZEIRIER=8H] 40,0002 %17 680
04 PAE2EERFAH 3,600 3,600 0
ORMEEE =2 300,000 * 122 3,600
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